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1. What is the key component of 15t generation 1.  H¥H el I F TG HIE 2
computers ?

(A) Transistors \()Zf iR
(B) Magnetic Tapes (B) w B
) B (C) == 9 (IC)
(D) VLSI (D) @ T& TH 3TE (VLS])
2. Choose the correct option : 2. wd fawed =
Statement 1:  Scanner is an example of daded 1: ﬁu_ﬂ B ﬁa,a'[gg =l TH ?E'T%TUT
Input Device. 7l
Statement 2 :  Hard-disk is an example of qHH 2 : %T@*%&T?h TEI TAYE AR AL
both Input and Output feamzy &1 U |0l e
Device.
(A) Both statement 1 and statement 2 are ‘*_(,A) e 1 AN a9 2 T Te 8 |
correct.
(B) Both statement 1 and statement 2 are (B) FHA1 R 9T 2 2 TEd € |
incorrect.
Statement 1 is correct and statement 2 \(52{ T 1 Fal £ SN e 2 Med ¢ :ﬂ/
is incorrect.
(D) Statement 1 1is incorrect and (D) oeRTeH 1 TTeld T 3R T 2 W B

statement 2 is correct.

3. Which of the following is NOT in the 3. =1 % & % wreret Feafshn wge =i Sroft H =&

category of Social Networking Site ? g7
(A) Facebook (A) HELH
Google hangotits QB’l/ T TS \(
(C) Twitter (C) Zfa= |
(D) LinkedIn D) fofFzEd (LinkedIn)

4. _____isatypeofoperating systemthat 4. FoRfen faeed # TH FFR @ |
can be popularly used in the systems like f Fvzeee (handheld) erlz{a'{ Ul €1 T (PDA)
handheld  computers, PDA and :F?R P?ﬂ?f‘ﬂ? fems o AT ﬁﬁ?iﬂ ElE X
smartphones. gl
(A)  Network Computer Operating System (A) J2Th HAX sarqfen faeen

\/(Bf Embedded/ Mobile Operating System ®/ TATE (Embedded)/AaEa AN
ey
(C) Desktop Operating Svstem (C) EweRer sfaeren fowm
(D) None of the above are correct. \(Pry/ T FE o TE @ §

5. o 8t type s used to increment 5. 22 UFH '% 1 foF wieg ® OH
the value in the field whenever user adds a EFEl T e o ELRIE ] TH TH- EEP:P:I ¥ U
new record to a table in MS - Access. et (table) fl wF 71 freerg sEd €
(A) IncrementNumber : (A) TehHzAat (IncrementNumber)

(B) ' AddNumber (B) W=A (AddNumber)
7 AutoNumber \ig/ e (AutoNumber) v
(D) ForwardNumber (D) wEeaa (ForwardNumber)
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10.

The ribbon in MS - Word 2010 consists of a
series of :
(A) Gates
(B)  Windows
D/QG)/ Tabs

(D) Doors

We are having marks of English, Maths and
Science in B2, B3 and B4 cells respectively.
The maximum marks of each subject are 100.
Then the correct formula for calculating
percentage in MS - Excel is/are :
(A) =SUM(B2:B4)/300*100 = %°
(B) =(B2+B3+B4)/100*300
(C) =SUM(B2:B4)*100/300
Option (A) and Option (C) both are
correct.

~ Which of the following statement is
true ?

(A) User can use hyperlinks to move from
one slide to another.

(B) User can use hyperlinks to move to a
Network or Internet location.

(C) User can use hyperlinks to move to
another file or program.

LJD—)/ All of the above

While creating an email in Outlock, Bec
stands for :

(A) Blind Console Copyv
(B} Blank Cut Copyv
A7 Blind Carbon Copy

(D) Black Carbon Copy

What is the full form of GPS ?
(A) General Public Service

(B) Geographical Positioning System

‘/(_Q/Global Positioning System

(D) None of the above

Sept., 2016

Q’f[ W—H@i 20‘1 OTT f(“f"f {ribbon)
F HEA H T B 2 |

(A) TZH (Gates)

(B) o= (Windows)

(CY~ =58 (Tabs)

(D) =M (Doors)

B2, B3 ¥R B4 AT ( keus)nm s:n:rﬂ i
iR TagE % odw ifwa £ wfawzr
sifireras 100 3% B T4 TH TH - qaﬂ:ran
St 1 7o % fo WA e 88 0 AE

(A) =SUM(B2:B4)/300%100
(B) = (B2+ B3+ B4)/100*300-

(QY" =SUM(B2:B4)"100/ ﬂ)@dc

\/Faarq( A) iR fame () 3 w@ E

feAfefas § 9 HE-51 999 Fa © ?

(A) ST TF RS (slide) ¥ T H
graraflia g7 F fay sEmfas
(hyperlinks) T SUAM & HFd Z

(B) ITANTERAl TF AT Al FITAZ AHIH W
 WH % foU sEwiesE w1 STEn H
TFa T

(C) WHFWWWWWWW
 ferg W 1 I T

(DY SR W R B4
S (Qutiook) H $H B T94, Boe
HAH B & - :
(A) TEEE HEE F19 (Blind Console Copy)
(B) =i e Wil (Blank Cut Copy)
(C) =MEg HeA Hidl (Blind Carbon Copy)
=i e w1 (Black Carbon Copyi-—

< o TH (GPS) % YU 9 FE ?

L(})/"T"F{Ff Yfeer HAfaH (Gemﬂal Public
Service)

(B) warafEwa  wifgwfyn  feweH
(Geographical Positioning System)

() Twtgm wifswfan faw=s (Global
Positioning System}r— '

(D) SREH F HE o T



11.

12.

13.

14.

15.

16,

The capacity of a communications network
or computer channel, to transmit bits per
second (bps) is called :

Bandwidth
(B) Frequency
(C) Both Option (A) and Option (B)
(D) None of these

A technique used in Windows 10, to
wirelessly push or mirror your screen to the
remote screen or monitor :

ScreenCast
(B) Mirroring
(C) Wireless
(D) PushButton

Which of the following is/are App
Stores ?

(A) Google Play Store

(B) Apple App Store

(€) Windows Store

,./QBT All of the above

What is/are the function(s) of Firewall ?

(A) It can help prevent malicious software
to gain access to your computer
through a network or internet.

(B)  Itcan help to stop your computer from
sending malicious software to other
computers.

(€) It can filter receiving and sending
packets from a device.

(D) All of the above

Which one is NOT a valid relationship ?

O =
e
]
4

(Cy M:1L,N:N

(D) All of the above are valid.

Suppose “C:” is the drive name; “Folderl”
is the top-level folder on drive C; “Folder2”
is the subfolder in “Folderl” then the valid
file path for a file “test.jpg” present in
“Folder2” is :

(A) C:\Folder2\Folderl\ test.jpg

(B) C:\test\Folder2\Folderl.jpg

(C)" C:\test\Folderl\Folder2.jpg

APy~ C:\Folderl\Folder2\ test.jpg

12,

13.

14.

15.

16.

R e A HL T H A S o forzm
gfa ﬁm:c: (bps) ® H=Mlid B %, 39 &
ST &
(A) 73@%!3?1 (Bandwidth) -
(B) TRIERIHT (Frequency)
(@i fowed (A) @i fawed (B)
(D) 39 H | wIE
fa2rst 10 & s T T € fore 7eg |
Y ST THTT HT IS H Bhi/ A2 T
Ieh ¥ <@/ J&d T T ©
@ﬁm (ScreenCast) 7
(B) fafam (Mirroring)
(C) amaterd. (Wireless)
(D) 9rEET (PushButton)
=1 9 9 31 T ¥R (App Stores) /% ?

(A) T "R (Google Play Store)
(B) TWS TN ¥R (Apple App Store)
(C),, &= =R (Windows Store)

\gz{erqﬁ?ﬁam/

! (Fnevx all) ?m"T/EF Fd F %’/%’ ?

( Tg FIg% I1 TIAS F HIIH § SUH
FH q% TgA TEA A F fau
gﬂhﬂ’{ﬂf (malicious) QreeeE? i T
T Heg L a1 ¥

(B) %Wmmm&v{m$m
U Wiz S %1 T | 9EE
FL T T |

(C) ¥ feamy ¥ wra =1 99+ a1t ke
et I TFa1 B

(D) SHRE T

=1 5 9 ®H-91 Rewmi (relationship) 97

T E?

(A) 1:1,1:N

(B) 0:1,0:N

(C) N:1,N:N. -

OF T wsh w

M st fF C ST F A %; “Folder1”
3Ed C W IT9-WRT el §; “Folder2”
“Folderl” ¥ HaHIee? 8 “Folder2” B Fufteq

FEA “test.jpg” ¥ o 7 Tl 9y ¥

(A) C:\Folder2\Folder1\ test.jpg
(B) C:\test\Folder2\Folderl.jpg
(C) C:\test\Folderl\Folder2jpg

\(_9)/ C:\Folderl\ Folder2\ testjpg , _—
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17. How to create a uniform appearance by
adding a background image to all slides ?

(A) Create a template
Edit the slide master
(C) Use the auto correct wizard

(D) All of the above
18. A collection of interrelated records is
called a :
(A) Management Information System
(B) Spreadsheet

,_/(—G)/ Database

(D) Text File
19. The ascending order of a data hierarchy is :

Mit - Bytes - Field - Record - File -

Database.

(B) Bit - Bytes - Record - Field - File -
Database.

(C) Bytes - Bit - Record - Field - File -
Database.

(D) None of the above

20. USB stands for :
(A) Universal Serial Band
BT~ Universal Serial Bus
(C) Unique Serial Bus
(D) None of the above
21. The process of copving a file into CD/DVD
is often called as :
(A) Storing
..,éB’)/ Burning
(C) Pasting :
(D) Cutting
22. Control Panel provides facilitv(ies) like :

(A) Adding hardware
(B) Adding/removing Software
(C) Changing date and time
All of the above
23. A command used in Windows OS to list all
the directories or files in a current

location :
(A) Is

dir
(C) list

(D) Both option (A) and (B) are correct.
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17.

18.

19.

20.

21,

22.

s b

i TEE T UF FFAREE B4 (background
image) 71 g T A fa@mae ¥ o Hehd
¥,

(A) TUF TOYeRE I Lo

(B) RS AN (slide master) HATEd Tl +~—
(©) 3ff21 s a2 (auto correct wizard)
of s

SaEEta (interrelated) R % T W ohel
(A) FEBL] (Management) {31 JOTE

(B) =T

(C) EI=E.~

(D) THRZ HEE

221 Y& (hierarchy) o1 S&dl H T

(A) ﬁaz\-»m—m—ﬁ‘q?%—m-

ST |

(BY 2 - smzm - fEE - wies - -
2o | L

(C) W—Fﬂt—ﬁaﬁé—uﬁﬁ—mﬁ—
=2 | '

(D) ¥ 9 =5 o T
7 TE S (USB) 1 01 &9 & :
(A) Fftedw d@ifma s
By~ FEge it s -
(C) g Eiftae =9
(D) =70 ¥ & ff 72
= €1/ o 21 H TiEe w1 Fa HA B AR
(A) IR (Storing)
By~ AT (Burning)~
(C) URET (Pasting)-
(D) = (Cutting)
'5!'%";.‘215 R (Control Panel) EFET%TI( Qv) PEHEETGI
T
(A) TTEATR I S
(B) HTRHTT = e/ &M
(C)  feaier IR v/ sIRe
{ STE 9l
foers oty | seme wae fed R adaE
Ty X ATE T SR SR e o gEl

(A) Is
(B) _dir
list

(D) ZFi fasked (A) 37K (B) T8 €1



24. "v\ihich of the following is also known as
personal information manager ?

‘V(;,}/l\-ﬁcrosoft Qutlook
(B) Microsoft Excel
(C) Microsoft Word
(D) Microsoft Access

25. ___ function is often used in

MS - Excel to convert all the characters of a
text string to uppercase.

(A) CAPITAL
(B) CAPSLOCKON
(C) ROUND

(),D')" UPPER

26. Which of the following is NOT an example
of GUI supported Operating System ?
(A) Windows 10
(B) Mac OS5

(_AET UNIX

(D) Both (A) and (B)

27. server prevents direct access to
and from the Internet.

LM Proxy
(B) Direct
(C) Optical
(D) Magnetic

28. DBMS follows the ACID properties, ACID
stand for :

(A) Auto Created Index

Atomicity, Consistency, Isolation and
Durability

(C) All Consistent Identity

(D) Auto Consistent Identification

24,

25,

26.

27,

fm1 & | i safa S yeeE % v o
SISl g ¢
(A) TEHER HAZTF
B
C) wEmEw 7E
TH UY-UHS s e
R TR T = Tt FlERy (characters) Ll
FIHT (uppercase) A uftafia = % fom
T fama S
(A) CAPITAL
(B) CAPSLOCKON
(C) ROUND

\DJ UPPER{~

=1 9 5 =7 S g 3% (GUI) wafdda stwfen
femem =1 e 78 &2

(A) fa== 10 (Windows 10)
(BY~ T 1 TH (Mac OS) «
(C) I (UNIX)
(D) = fa@eg (A) @R (B) W@ £

i HER 320 F HiHT 95T (access)
T el T
(A) Wil (Proxy)

(B) Em™E (Direct)
(&~ #ifeswa (Optical) o -
(D) HHfeH (Magnetic)

S| TH TH (DBMS) & ACID T &1 &, ACID

YU EIE

(A) =2 U2 $899 (Auto Created [ndex) D

+(B) EEEA I el (Atomicity), EasE=Esil
(Consistency), (Isolation) 31

Eﬁ@ (Dulablhh T @

(C) 7w iz aMEEfeal (All Consistent
Identity) ‘

(D) 321 &wTgee AR fefFFy (Auto

Consistent Identification)
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29.

___is used to translate the Internet
domain name into Internet protocol address.
For example the domain name
www.vmouw.ac.in might translate to
198.105.24.32.

(A) VPN (Virtual Private Network)
DNS (Domain Name System)

(C)y DVD

(D) CD

Which of the following is NOT a hardware
device ?

(A) Hard disk
(B) RAM
(C) Mouse

Py~ Browser

31.

32,

What is MP3 ?

(A) A mouse

_ A sound format

(C) A video format

(D) Both option (B) and (C)

“Inbox” in emails client means :
ocation where received emails are
kept
(B) Location of sent emails
(C) Location of deleted emails
(D) Location of spam-
To prevent infection by computer virus :
(A) Avoid visiting medical sites

By~ Scan email with attachments

(C)  Don't upgrade operating system
(D) All of the above .
34. A cartridge is associated with :
(A) Mouse
By~ Printer
(C) Joystick
(D) Touchscreen
35. Which of the following is/are NOT

malicious in nature?

(A) Worm
(B) Virus
(C) Trojan horse

L)D—}/’ All are malicious in nature

Sept.,
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] T2 EMUA AT § T2 TR
T H AR HE F e wEm fE S g
FETE0 F 'FG'Q TEA M www.vmow.ac.in T
TE YR T4l 198.105.24.32 H FATAR &
el T |
(A) & € T (T TEe )
B € T (I W e
(C) =t &t € (DVD)
(D) &I = (CD)
T=H § F UF eea framm A g7

—

(A) e fe=

(B) ¥ (RAM)

(©)

F3s (Browser)

MP3 FE?

(A) T HRH .
(BY” TF & IET

(C) U difedr urEy

(D) i faed (B) 3R (C) WEl €|

e FoEe | e WY T

(B) TSI T HeA T T

(C) 7MW 7T HeA hI TH
(D) FH =1 T
R AR | HFE ] TehA F e

(A) Tafwe ore W S | 7=

\(Bf I % WY e Bl W B T
(C) Wwwwmpgmde)

(D) mw

FRAS (cartridge) 5% g9 e

(A) H=E

By i

(C) Siafes

(D) = BRMA

= & 4 & guieTge (malicious) ¥Hia
/% T8 ¢/€7?

(A) ¥4 (Worm)

(B ) EIRIEE (ynus)

(C) Zr5M & (Trojan horse)
\P«)/ SR T W H gHEAT (malicious)
%

~-00o0-



